FAKE (BELE « 5IEH8)

EXOUBEEFE>TROAERRERT,
(1) x-12=8

(2) x+4=13

% %
ERDMEEEFE->TROAERXERT,
(1) x-3=6 (4) x-7=9 (7) x+7=9
% % %
2) x-2=-4 5) x-12=3 (8) x+14=0
% % %
B) x+7=2 (6) x-8=-8 (9) x+2=-1
% % %




HREADHE (I8 - 808

EXOUBEEFE>TROAERRERT,

) —%x:3 (2) —6x=9
% %
EXOMEEFE->TROHEREET,
1, _ 1,
1 TX_3 (4) 2x=14 7 3x_6
% % &
@) %x=—9 (5) —5x=15 8) —Tx=—21
= & =
Ty __ Ay
3) Tx_ZO (6) 3x=-12 (9) 5 X= 8
& % &




HhREADE (BE)

ROFAEXERIT,

(1) 4x+8=-12 (2) 3x-7=-4 (3) -6—x=6
& & &

ROFBERERT,

(1) 6x-10=8 (4) -8x-5=7 (7) 12+4x=12
& & &

(2) 9x+2=-7 (5) 24-6x=0 (8) —5x—-12=3
% % &

3) —x—4=4 (6) 18—x=11 (9) -7-x=17
& % &




PEEATEBLTHE
ROFAEXERIT,
(1) 2x-5=3(4x-5)

ps
=

(2) 4x—4(3x+2):8

o)

(3) x—3—(7x—1)=8+2x

o}

ROFEHERIT

1) x+6:—3(2x+5)

pas
=

(2) 2(3—4x):2x+8

o}

(3) 16-(5x—8)=19

I

(4) —13=6-2(3x-1)

Ip

(5) 3x—2(x—5):—12

ps
=

(6) 15—2(x—4)=3x+8

op




BPEADEE (UNE=R)
ROBBRERT,
(1) 0.3x—0.5=1.5+0.1x

ps
=

(2) 1.2x+2=x-0.4

o)

(5) 0.15x-0.02=0.1x

o}

ROFEHERIT

(1) 0.3x+0.4=0.1x+1

pas
=

(2) 0.5x—0.2=0.4x-0.8

o}

(3) 0.5+0.2x=0.1+0.3x

Py
=]

(4) 0.5x—2.6=—2+0.3x

Ip

(3) 0.3=0.14—0.08x

ps
=

(6) 0.02x—0.15=0.05x

op




READEHE (DD

ROBBRERT,

_9_X 1, 1_3,.2
(1) 2x 13 (2) X =g X3

=
=

op

ROHERERIT,

X_X_ 2,.4_2 2

<)) 53 2 3) X5 =35 X
% &

5. 5 3,2 1

(2) 8 6x_2 )] e 1 X" 537X
& &




PREADHE (D¥@)

ROBBRERT,

5X+7 | 2X+5 _
(1) T+T_2

=
=

(2) x+2-

X+5 _ 3

3

4

op

ROAERERT,

2Xx=3 _9x=7 _
1 = =3

Ip

12—x _ 3x+3
2) 54

2

(3) 3x—4 — 5x—14

(4)

8

2

6

I§

3

X=6 _ 4x-14

2




PDEADE (DEER < IV - DEES

ROFBRERT,
(1) 02(x+4)-0.3(2x—1)=2 2 Z(2x-3)-(x-1)=-5

=
=

op

ROFERERIT,

(1) 0.2(x—5)-12(x—3)=-3.4 ) Z(x-6)-4(x-3)=2
& &

(2) 03(2x-3)+05(x+1)=-1.5 (4) 3 (2-3x)-(5x+2)=-9
& %




FAKE (BELE « 5IEH8)

EXOUBEEFE>TROARRERT,

(1) x-12=8 (2) x+4=13
X—12+412=8+12 X+4—4=13—4
x=20 X=9
= x=20 = x=9
ZRXOUBEEF->TROFERERIT,
(1) x—3=6 (4) x-7=9 (7) x+7=9
X—3+3=6+3 X=T7+7=9+7 X+7-7=9-7
X=9 Xx=16 X=2
= X=9 = X=16 = X=2
(2) x-2=—4 B) x—-12=3 (8) x+14=0
X—2+2=-4+2 X—12+12=3+12 X+14-14=0-14
X=—2 X=15 x=-14
% X=-2 % x=15 = x=-14
3) x+7=2 (6) x-8=-8 (9) x+2=-1
X+7-7=2-17 X—8+8=-8+8 X+7-7=9-17
X=-b5 x=0 X=2
= X=-5 = x=0 = Xx=-3




RO E (MNIE - EDE)
ZRXDUEEF>TROFERERIT,
(1) —%x=3 (2) —6x=9
* *
1 1 1 3
,l ,i =3 _5 _HX: E
w3 &,
__3
X:—% X= 2
& X=—175 & x:—%
EXDMEEFE>TROFEXEMT,
1, _ Ay
m Tx—3 (4) 2x=14 @) 3x_6
* * *
ix><\4\]:3><4 ]\&X _ SN ix><\3&1:6><3
1 2, 3, 1
X=12 x=7 x=18
% x=12 % x=17 % x=18
(2) %x=—9 (6) -5x=15 (8) -7x=-21
* * *
1 1 1 3
R S “Sx 8 “x_ -2t
PR P} 5,y e
Xx=—6 x=-3
% X=—6 % X=-3 = x=3
1, _ dy_
3) ZX—ZO (6) 3x=-12 (9) 5 X= 8
* * *
1% =204 Sx _ -1 L s ——8x5
1 RO ¥ 1
x=80 X=— x=-40
= x=80 % X=- % x=-40
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HRADHE (BE)
ROFAEXERIT,

(1) 4x+8=-12 (2) 3x-7=-4 (3) —6-x=6
* * *
4x=-12-8 3x=—4+7 -Xx=6+6
4x=-20 3x=3 —x=12
1 5 1 1 e
x _ - 20 3x _ % x=-12
LY. ¥ 3§,
X=-9 x=1
% X=-5 & x=1 & X=-12
ROFERERIT
(1) 6x-10=8 (4) —8x-5=7 (7) 12+4x=12
* * *
6x=8+10 —8x=5+15 4x=12-12
6x=18 —-8x=12 4x=0
1KX SN 71XX _ 3}\2 1X\X :g
hﬂ K] _Eﬂ _%\2 \4\1 4
X=3 __ 3 x=0
X="7
% x=3 % x:—% = x=0
2) 9x+2=-7 (5) 24-6x=0 (8) —-5x—-12=3
* * *
IX=-7-2 —6x=-24 —-5x=3+12
9x=-9 ex - —5x=15
1&)( _ *]\& —Eu - _31 71\&X _ SN
&1 &1 x=4 _\‘11 _5\1
X=-1 X=-3
% X=-1 % x=4 %® X=-3
(3) —x-4=4 (6) 18—x=11 9) -7-x=7
* * *
—X=4+4 —x=11-18 —X=7+7
-x=8 ~x=-T ~x=14
x=-8 x=17 Xx=—14
= X=-8 = x=7 % x=-14
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PDEFRITRILTHE
ROFAEXERIT,

(1) 15=-3x+9 (2) —4x+6=5x
* *
3x=9-15 —4X—5X=—-6
3X=-6 —-9x=-6
1 2 1 2
3x_— 8 -89 _ - &
3,3 -y, -3,
X=3
p 2
% -9 =% <
= X = X 3
ROFEBHERIT,
(1) 18=9-3x (4) 21+17x=21 (7) 20+2x=-2x
* * *
3x=9-18 17x=21-21 2X+2x=-20
3x=-9 17x=0 4x=-20
Sx _ -8 Nx _ 0 Mx -T2
\8\1 \&1 \N\l 17 \4\1 \4\1
% X=-3 % x=0 %‘: X=-5
(2) 1=9-4x (5) 8+5x=3x (8) 5x—17=6x
* * *
4x=9-1 5Xx—3x=-8 5x—6x=17
4x=8 2x=-8 —x=17
1 2 1 4 —
\4\X :73 \&X - R Xx=-17
LYY VY
x=2 x=—4
& x=2 = x=—4 = x=-17
(8) -8=6+2x (6) 18—3x=3x (9) 4x=15+x
* * *
—-2X=6+8 —-3x—-3x=-18 4x—x=15
-2x=14 —6x=-18 3x=15
“ax B _ -8 Sx _ 18
_\2\1 _\2\1 *BM *Ew \3&1 \3\1
X=-7 x=3 X=5
= X=—7 = Xx=3 = x=5
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FRRROE (M)
ROBERRERT

(1) 0.3x—0.5=1.5+0.1x

*
(0.3x-0.5)x10=(1.5+0.1x)x10

3X-5=15+X

3X—x=15+5
2x=20
I\X\X ) 10\20\
2, %

0.3xx10-0.5x10=1.5xx10+0.1xx10

(2) 1.2x+2=x-04
*
(1.2x+2)x10=(x~0.4)x10
1.2xx10+2x10=xx10-0.4%x10
12x+20=10x—4
12x-10x=-4-20

2x=-24
1 12
Ax _ - 24
2, R
x=-12
= X=-12

(5) 0.15x-0.02=0.1x
*
(0.15X—0.02)><100=0.]X><100
0.15xx100-0.02x100=0.1xx100
15x—2=10x
15x-10x=2
5x=2

i3
<

Il
)

ROFERERT .

(1) 0.3x+0.4=0.1x+1
*
(0.3x+0.4)x10=(0.1x+1)x10
0.3xx10+0.4x10=0.1xx10+1x10
3Xx+4=x+10
3x—x=10-4
2x=6

% x=3

(2) 0.5x—-0.2=0.4x-0.8
*

(0.5x—0.2)x10=(0.4x—0.8)x10
0.5xx10-0.2x10=0.4xx10-0.8x10

5X—2=4x-8

5X—4x=-8+2
X=—6

= X=—6

(3) 0.5+0.2x=0.1+0.3x
*

(0.5+0.2x)x10=(0.1+0.3x)x10
0.5%x10+0.2xx10=0.1x10+0.3xx10
5+2x=1+3x
2x—-3x=1-5

—Xx=—4
Xx=4

% x=4

(4) 0.5x—2.6=—2+0.3x
*
(0.5x—2.6)x10=(-2+0.3x)x10
0.5xx10-2.6x10=-2x10+0.3xx10
5Xx—26=-20+3x
5x—3x=-20+26
2x=6

Ip
>
I
W

(3) 0.3=0.14—0.08x
*
0.3x100=(0.14-0.08x)x100
0.3x100=0.14x100—0.08x100
30=14-8x
8x=14-30
8x=-16
1 2
Bx _— 1§
8, 8

X=-2

= X=—2

(6) 0.02x—0.15=0.05x
*
(0.02x—0.15)x100=0.05xx100
0.02xx100-0.15x100=0.05xx100
2X—15=5x
2X—-5x=15
-3x=15
1 5
- 3x __1§
_\3\1 _\3\1

X=-5

op
>
I
|
(¢;]
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PREADHE (DED

ROBBRERT,

_5_x Ty 1_3,.2
(1) 2x 13 (2 X =g X3
* *
2XX1Z—LXNS:LXN4 X N4—i\&x\1\26— 3 XXN +L \1\2
1 1 1 1 1 1
24X —-15=4x 4X—6=9x+8
24X —-4x=15 4x—-9x=8+6
20x=15 -5x=14
20x _ e ~"5x _ 1
\29\1 \29\4 _\5&1 -
-3 __14
X= X=—-%
3 14
= 9 = —__14
=) X 2 = X 5
ROFERERT .
X_X_ 2,.4_2 2
<)) 53 2 3) X5 =35 X
* *
X e - X 18 =2x15 2 o+ e =20 -2 o]
1\:\ 1\3\ 1 1 1\8\ 1
3x-5x=30 10Xx+12=10-6X
-2x=30 10x+6x=10-12
“wx  3q 16x=-2
_\2\1 - _\2\1 ]\1\6‘)( = _1\2‘
X=-15 \1\6\1 \1\6\8
__1
X="3
% Xx=-15 = x:—%
S5, 5_3,.2 1
(2) 8 5 X= 2 4) 6 153 X
* *
8><6—ix><ﬁ1:—2><6 LXNZ—LXX}\ZSZLX\T\Z[‘—LXX\‘\ZG
1 1 1 1 1
48 -5x=-12 10-9x=8-6X
-5x=-12-48 -9x+6x=8-10
_1\&)( . —12\6Q 1—3X:—2
*\5\1 *\&1 — \S\X _ =2
x=12 -3, -3
_2
X=3
% x=12 03 X:%
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PREADHE (D¥@)

ROHEHXERIT,
5X+7 | 2X+5 _
(1) T+T—2
*
3 2
B(5x+7) , "B(2x+5) _, ¢
2, 3,
3(5x+7)+2(2x+5)=12
15X+21+4x+10=12
15X +4x=12-21-10

19x=-19
1NX _ _1N
T, T,
X=—1
= X=—1

X+5 _ 3
(2) x+2- T =1
*
12x+2x12—M:ixﬁ\z3
3, &
12x+24—4(x+5)=9
12x+24—-4x-20=9
12X—4x=9-24+20

8x=5
1&)(:2
8, 8
_9
*~g
5
e -9
= X 8

ROFAERER T,

2Xx=3 _9x=7 _
1 = =3
*

4 5
20(2x-3)  "20(9x-7) 2220
5 4,
4(2x-3)-5(9x—7)=60
8x—12-45x+35=60
8x—45x=60+12-35

-37x=37
-3x _ "
-3, -,
X=-1
%= X=—1
12—x _ 3x+3
(2) 3 =g
*
e (12-x) 12 (3x+3)
3, A,
4(12—x):3(3x+3)
48 -4x=9x+9
—4x-9x=9-48
—13x=-39
~"rax _ -"3a
-1 -
X=3
= Xx=3

3) 3x8 4 _ 5x614
*
24 (3x—4) 24 (5x-14)
LV ¥
3(3x—4)=4(5x—14)
9x—12=20x—56
9x—-20x=-56+12

—11x=-44
~Nx _ -Tm
_N1 _N1
x=4
= X=4

"8(x-6)  “B(4x-14)
2,y
3(x—6):2(4x—14)
3x-18=8x-28
3x—8x=-28+18
-5x=-10
~Sx _ -1
-5, -5,

X=2

= X=2
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DREADEHE (DEER - W - DEIRS

ROHEHXERIT,
(1) 0.2(x+4)-0.3(2x—1)=2
*
0.2(x+4)x10-0.3(2x~1)x10=2x10
2(x+4)-3(2x—1)=20
2X+8—6x+3=20
2X—6x=20—8-3

—4x=9
~Mx _ 9
_\4\1 —4
-_9
X="%
9
= [
= Xx=-

2 Z(2x-3)-
*

(x—1)=-5

122 (2x-3) = Mo (x— 1) =512

3

8(2x~3)-3(x~1)=-60
16X—24—3x+3=-60
16x—3x=—-60+24-3

13x=-39
1 3
M8x _ 39
LV ¥
X=-3
& X=-

ROFERERT .

M 0.2(x—5)—1.2(x—3):—3.4
*
O.2(x—5)><10—1 .2(x—3)><10:—3.4><10
2(x—5)—12(x—3):—34
2X—-10-12x+36=-34
2X—12x=-34+10-36

—-10x=-60
1 6
- Tx _ - 80
-1, -1,
X=6
= X=6

(2) 0.3(2x—3)+0.5(x+1)=~15

*
O.3(2X—3)><10+0.5(X+1)><10:—1.5><10
3(2x—3)+5(x+1)=—15
6X—9+5x+5=-15
6X+5x=-15+9-5
11x=-11

1NX _ _1\[\1
NN,

X=-1

3) 2 (x—6)—L(x—3)=2

3
*

ZEXL(X—G

3

6

) "Bx—(x-3)=2x6

4(x—6)—(x—3)=12
4x—24—-Xx+3=12
4x—-x=12+24-3

3
@ (2-3%)-
*

3x=33
1\&)( _ 113\&
33,
x=11
% x=11
1
?(5x+2)=—9

Y x3-(2-3x)— W x— (5x+2) =—9x4

A,

1
3(2—3x)—2(5x+2):—36
6—-9x—10x—4=-36
-9x—-10x=-36-6+4

-19x=-38
1 2
- Tox _ - 38
-1, -1,
X=2
= X=2
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